
 

 

WYKAZ  POSZERZEŃ  

Przebudowa drogi powiatowej Nr 3003W 

RASZEWO - RADZIKOWO  

od km 2+706,57 do km 4+300 

 

 

          Strona lewa 
               

           km 2+746 – 0,00 

                                            0,00 + 2,14 

                                             ---------------   x  54   =  1,07 x  54   =     57,78 

                                                   2 

               2+800 – 2,14 

                                            2,14 + 2,04 

                                            ---------------   x 100  =   2,09 x 100    =  209,00 

                                                    2 

              2+900 – 2,04 

                                            2,04 + 2,50 

                                            ---------------   x 100 =    2,27 x 100    =  227,00 

                                                   2                          

              3+000 -  2,50 

                                            2,50 + 1,78 

                                             ---------------   x 100 = 2,14 x 100     =   214,00 

                                                   2 

              3+100 -  1,78 

                                            1,78 + 1,04 

                                             ---------------   x  100 = 1,41 x 100    =   141,00 

                                                   2 

              3+200 -  1,04 

                                            1,04 + 0,00 

                                             ---------------   x  100 = 0,52 x 100    =     52,00 

                                                   2 

              3+300 – 0,00 

                                                                                --------------------------------- 

                                                                                   Razem            900,78 

                  

         km 3+634 – 0,00 

                                            0,00 + 1,06 

                                             ---------------   x 66   =  0,53 x 66     =    34,98 

                                                   2 

               3+700 – 1,06 

                                            1,06 + 0,00 

                                             ---------------   x  88 =  0,53 x  88     =    46,64 

                                                   2 

              3+788 -  0,00 

                                                                              --------------------------------- 

                                                                                   Razem             81,62 

         



         km 4+000 – 0,00 

                                            0,00 + 1,60 

                                             ---------------   x 100   =  0,80 x 100    =   80,00 

                                                   2 

               4+100 – 1,60 

                                            1,60 + 1,02 

                                             ---------------   x  100 = 1,31 x 100    =   131,00 

                                                   2 

               4+200 -  1,02 

    

                                            1,02 + 0,00 

                                             ---------------   x   100 =  0,51 x 100     =  51,00 

                                                   2 

              4+300 -  0,00 

                                                                              --------------------------------- 

                                                                                   Razem              262,00 

             Strona prawa: 

 

 

          km 2+714 – 0,00 

                                            0,00 + 0,72 

                                             ---------------   x 16   =  0,36 x 16     =      5,76 

                                                   2 

               2+730 – 0,72 

                                            0,72 + 0,00 

                                             ---------------   x  30 =  0,36 x  30     =    10,80 

                                                   2 

              2+760 -  0,00 

                                                                              --------------------------------- 

                                                                                   Razem             16,56 

         

           km 3+300 – 0,00 

                                            0,00 + 1,26 

                                             ---------------   x 100   =  0,63 x  100   =    63,00 

                                                   2 

               3+400 – 1,26 

                                            1,26 + 0,84 

                                            ---------------   x 100  =   1,05 x 100    =  105,00 

                                                    2 

              3+500 – 0,84 

                                            0,84 + 0,42 

                                            ---------------   x 100 =    0,63 x 100    =    63,00 

                                                   2                          

              3+600 -  0,42 

                                            0,42 + 0,00 

                                             ---------------   x  62 = 0,21 x 62     =      13,02 

                                                   2 

              3+662 -  0,00 

                                                                                         ---------------------------  

                                                                                            Razem    244,02 



         km 3+700 – 0,00 

 

               3+800 – 0,64  

                                            0,64 + 0,66 

                                             ---------------   x 100   =  0,65 x 100    =   65,00 

                                                   2 

               3+900 – 0,66 

                                            0,66 + 0,64 

                                             ---------------   x  100 =  0,65 x 100    =    65,00 

                                                   2 

               4+000 -  0,64 

                                            0,64 + 0,00 

                                             ---------------   x   22 =  0,32 x  22      =      7,04 

                                                   2 

              4+022 -  0,00 

                                                                              --------------------------------- 

                                                                                   Razem              137,04 

 

 

              Łącznie – 900,78 + 81,62 + 262,00 + 16,56 + 244,02 + 137,04 = 1642,02 

 

                                                            Przyjęto:      1642 m2    

 

 

 

 

              W tym Odc. II – str. L + str. P = 262 + 137,04  = 399,04  

 

                                                            Przyjęto:        399 m2    

 


